[19.1]
5/8"

[15.9]

- -

R

6STRCU
LCC4-10ABW

151 2
X#]O [5.3] STUD HOLES

THIS COPY IS PROVIDED ON A RESTRICTED BASIS AND IS NOT TO BE USED IN ANY WAY DETRIMENTAL TO THE INTERESTS OF PANDUIT CORP.
3/4"

LENGTH A
> P
S 09
< <

RGEJ660U, RGEJ696U

58
[15.9]

RV
[12.7]

HE

FACTORY CRIMPED #6 AWG JUMPER WIRE ASSEMBLY (QTY. 1) INCLUDES:

LCC6-14JAW (QTY. 1)
LCCé-10ABW (QTY. 1)
#6 AWG WIRE - GREEN/YELLOW INSULATION

#10 [5.3] STUD HOLES
5/8" [15.9] SPACING

>

>

<
RGEJ660PF, RGEJ696PF

LENGTH

5/8"
[15.9]

>

>

<

1/2"
[12.7]

FACTORY CRIMPED #6 AWG JUMPER WIRE ASSEMBLY (QTY. 1) INCLUDES:

LCC6-14JAW (QTY. 1)
LCC6-10AWF (QTY. 1)

#6 AWG WIRE - GREEN/YELLOW INSULATION

#10 [5.3] STUD HOLE

PV10-10RX (QTY. 1)
PV10-14RX (QTY. 1)

LENGTH

RGEJ1024URT
FACTORY CRIMPED #10 AWG JUMPER WIRE ASSEMBLY (QTY. 1) INCLUDES:

#10 AWG WIRE - GREEN/YELLOW INSULATION

1/4" [6.4] STUD HOLE

1/4" [6.4] STUD HOLES

1/4" [6.4] STUD HOLES

NOTES:

1. PART NUMBERS: RGEJ660U, RGEJ696U, RGEJ696PF, RGEJ1024URT
2. DIMENSIONS IN INCHES, DIMENSIONS IN BRACKETS ARE MILLIMETERS

PANDUIT LENGTH
PART NUMBER IN [mm]
RGEJ660U [ﬁ%zoft 12.21
RGEJ696U [Zigstt 12 .g]
RGEJ660PF [";%Sfjé% |
RGEJ696PF [92ftgst¢ 12 .g]
RGEJ1024URT %2].% :t 12 .g]

TITLE

STRUCTURED GROUND EQUIPMENT GROUNDING JUMPERS
(RGEJ660U, RGEJ696U, RGEJ660PF, RGEJ696PF, RGEJT024URT)

CUSTOMER DRAWING

ITEM REVISION NAME

10J021BB/02

DATASET FILE NAME

10J021BB-JC_02.SLDDRW

PaNDUIT

UNLESS OTHERWISE SPECIFIED,

MATERIAL

02 [ 211 [sNU[sHNU] JADEREMOYED émm, Témm FROM WIRE DESCRIPTION 10J021BB-JC | DIMENSIONAL TOLERANCES ARE: IN [mm]

01 | 1/12_|JHNU| RGB | RGB [REVISED TERMINAL ON RGEJ024URT: ADDED PV10-14gx | |002188-9C X : ANGLES & "

00 [ 2/11 |JHNU|sHNU| FLD DRAWING RELEASED 10J02188-JC B@ B e [PRANGRINEER ™ ) 1171 BB-JC
REV| DATE | BY |CHK|APR DESCRIPTION ECN ] PV ST NN SHEET 1 OF 1 B




	Sheet1
	Drawing View10
	Drawing View12
	Drawing View15


